CH-V/CC-11(5-1 CH)/20
B.Com. 5th Semester (Honours) Examination, 2019 (CBCS)
Subject : Financial Accounting-111

Paper : CC-11 (51 CH)

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten questions: 2x10=20

T A ™I 2ea Ted wie $

(a) What do you mean by ‘Issued Share Capital’ of a joint stock company?
G (T LR @NTE RiFF R e e § @

(b) What is ‘Right share’?
TfgeE o e

(c) Why ‘Capital Redemption Reserve’ is created?

T eopsiq AR R T =@ @

(d) What do you mean by ‘Underwriting Commision’?

‘WY AT TR IO N QIR

(e) What is ‘Profit prior to Incorpotation’ of a joint stock company?

@3 @ R @A ReTE ET e JAT FIE W 2

(f) What do you mean by ‘Capitalisation of Profits’?
Fceq IR 0o Q@M ?

(g) What is ‘Average Profits’ method of valuation of Goodwill?
TN YRR NG FAR o@fe B W2

(h) What do you mean by Amalgamation of companies?

@NelE gEaead o F QART?

(i) Mention two differences between Internal Reconstruction and External Reconstruction.
TR sAsod g AT AR 7o oiefay S el
19039 Please Turn Over

0872
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(j) What do you rﬁean by ‘Capital Employed’?
‘Rfvge @ w00 @i
(k) What is ‘ESOP’?
‘ESOP’ 2
(1) What is vesting period?
TG A 2
(m) What is meant by ‘Pro-rata’ allotment of shares?
CHCRR PSS QIR ARG JeT00 ([ 2

(n) Show the journal entries regarding share issues ‘other than cash’?
Fom oS’ et RiPere wicw wikElfs orte |

(0) What do you mean by ‘Consolidated Balance Sheet’?

% TEeid’ JE0e D QIR ?

2. Answer any four questions:

& Pt BIFfo AR Tel WIS ¢

(a) The Balance Sheet of Zintac Ltd. as at 31.12.2019 is given below :

Equities and Liabilities:
(1) Shareholders’ funds:
(a) Share Capital
(20,000 Equity shares of ¥ 10 each)
(b) Reserve and Surplus:
Profit & Loss
Securities Premium

Capital Reserve

(2) Non-current liabilities:

(a) Long-term borrowing - 6% Debenture

(3) Current Liabilities:

Trade Payable — Sundry Creditors

2,00,000

1,00,000
20,000
40,000

2,00,000

40,000

6,00,000

5x4=20




(3)

Assets:
(1) Non-current assets:
(a) Property, Plant and Equipment

(b) Non-current investment

(2) Current Assets:

(Including Cash at Bank)

CH-vV/CC-11(5-1 CH /20

3

2,00,000
1,00,000

3,00,000

6,00,000

It was decided: (i) to pay a cash dividend of 10%:; (ii) to issue one fully paid bonus share against

every 4 shares held. Assume that the capital reserve includes a profit on revalution

of the property, plant and equipment amounting to ¥ 10,000.

Give Journal Entries.

[291E 2 %))

(b) Discuss in brief, the steps involved in ‘Book-Building Method’ regarding issue of shares.

e RE cFta ‘Book-Building” #1&feq st siscstet 3561 ezl |

(c) The Books of Bita Ltd. showed the following balances on 31st March 20109:

¢ 30,000 Equity Shares of ¥ 10 each fully paid;
18,000 12% Redeemable Preference Share of ¥ 10 each fully paid up;

Profit & Loss A/c ¥ 80,000;

General Reserve ¥ 1,20,000;

Securities Premium ¥ 21,000;

4000 10% Redeemable Preference Shares of ¥ 8 paid up;

Preference shares are redeemd on April 1, 2019 at a premium of ¥ 2 per share. The

whereabouts of the holders of 100 such shares of I 10 each fully paid, are not known.

For redemption 3000 equity shares of ¥ 10 each are issued at 10% premium.

Show the necessary journal entries to complete these transactions.

a2 %34))

(d) Distinguish between Share and Debenture.
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(€) The Balance Sheet of Teesta Iron Product Ltd. as at 31st December, 2019 stood as follows:

L Equities and Liabilities: ?

(1 Shareholders’ funds:

Share Capital
(8,000 Equity Shares of ¥ 100 each)

Reserve and Surplus (Dr. balance of P/L)

8,00,000

(- 10,70,000)

(2) Non-current Liabilities:

(@) 5% Debentures 13,80,000
(3) Current Liabilities:
(a) Trade Payable : Trade Creditors 4,50,000
(b) Outstanding Expenses 10,000
15,70,000
II. Assets: X
(1) Non-current Assets:
(a) Property, Plant and Equipment 14,30,000
(b) Non-Current Investments 17,000
(2) Current Assets:
(a) Inventoris — Stock in Trade 80,000
(b) Trade receivables : Sundry Debtors 30,000
(c) Cash and Cash Equivalents : Cash at Bank 13,000
15,70,000

The company being in a bad position, an arrangement on the following lines has been agreed upon:

(i) The equity shareholders are prepared to have their capital reduced to 5% of their present
shareholding.

(i) The debentureholders are agreed to have thejr claims reduced 1o 50% which is to be

satistfied half by the issue of 7% Mortgage Debenrures and half by the issue of
8% preference shares of ¥ 100 each.

(iii) The trade creditors are prepared to receive 20% of their dues in exchange for equity shares
of the like amount.

(iv) The assets are to be reduced to the following revalued figures:

Property, Plant and Equipment: ¥ 11,00,000; Stock in-Trade: ¥ 50,000;
Debetors: ¥ 20,000; Investment: I 7000,

Pass journal entries for the completion of the scheme,

(&A1& o oy



(5) CH-V/CC-11(5'1 CH)/20
() The following is the information of M. Company Ltd. as at 31. 12. 2019:

Equities and Liabilities: 4 Assets L4
Equity Share Capital Goodwill 2500
25,000 shares of Building 15,000
3 5 each 1,25,000 Plant & Machinery 87,500
Reserves 12,500 Stock 30,000
Profit & Loss A/c 5,000 Debtors 40,000
Sundry Creditor 22,500 Cash at Bank 5,000
Other Liabilities 15,000

1,80,000 1,80,000

For the: pl.lrpo.se of valuation of shares of the Company, the Goodwill is revalued at ¥ 7750;
the Building is revalued at ¥ 12,500, Plants and Machinery is to be depreciated by ¥ 6,250,

the Stock-in Trade is worth ¥ 35,000, Sundry Debtors are expected to realise only 90%
of their book value.

You are to calculate the value of each share of M. Company Ltd. under Intrinsic Value
Method.

[2RAE 2P wBy]

3. Answer any two questions: 10x2=20
& e 7o 2esF Bed wie ¢

(a) India Ltd. made an issue of 30,000 Equity Shares of ¥ 10 each payable as follows:

On Application 3 5 per share (including Premium ¥ 2)
On Allotment < 4 per share
On Call % 3 Per Share

Applications were received for 43000 shares.. 30000 shares were allotted pro-rata among the
applicants for 40000 shares. Applications for 3000 shares were rejected and the application
money received in respect of the same was refunded.

The excess money received in respect of pro-rata allotment was, however, adjusted against the
allotment money.

Rakesh, holding 75 shares, failed to pay the allotment money. Kollol, another shareholder,
holding 100 shares failed to pay the call money. All the defaulting shares were forfeited. All
the shares held by Rakesh and 50 shares held by Kollol were re-issued to Sourav as fully paid
@ T 9 per share.

Show the necessary entries in the books of the Company.

(22 e wBg)
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. its subsidiz
(b) The following is the Balance Sheet of Sun Lid. and its subsidiary Moop Lid,

as at 31t March, 2019:

Sun Lid, Moon I.td,
4 (4

Equities angq Liabilitics:
(1) Sharcholders® Funds:

@) Equity share of ¥ 1 cach 6,00,000 2,00,000

(b) General Reserye 3,40,000 80,000

(¢) Profit & Loss 1,00,000 60,000
(2) Current Liabilities:

Creditors 70,000 35,000

Total 11,10,000 3,75,000
Assets; 14 3
(1) Non-current Assets:

Machinery 3,90,000 1,35,000
Furniture 80,000 40,000

(2) Investment:

80% shares in Moon Ltd. at cost 3,40,000 —_
(3) Current Assets

Stock 1,80,000 1,20,000

Debtors 50,000 30,000

Cash at Bank 70,000 50,000

Total 11,10,000 3,75,000

The following additional information is provided to you:

(i) Statement of Profit & Loss of Moon Ltd. stood g < 30,000

on Ist April, 2018
where as General Reserve has remained unchanged since that d

ate.
(i) Sun Ltd. acquired 80% shares in Moon Ltd. op Ist October, 2018 for ¥ 340, as
mentioned above. _ 000

(iii) Included in Debtors of Moon Ltd, is 5 sum of ¥ 10,000 dye from Sun Ltg, for goods
sold at a profit of 25% on cost price. Ti|] 31st March, 2019 only one half of the goods
had been sold while the remaining goods were lying in the godowns of Sun L;d. as
on that date.

You are required to prepare a Consolidated Balance Sheet as

calculations.

at 3 st March, 2019, Show

[Z831&) epgy %3]



(7)

. CH-V/CC-]I 51
(c) When valuation of Goodwill is required? Expla; (51 CH)/20
Goodwill. * Explain the factors th

T FRN |

ose affect the value of
3+7=10
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(d) The following is the Trial Balance of B Ltd. as on 31st March, 2019

Particulars: Dr. @) cr. @
Building at Cost 98,000 ~
Accumulated Depreciation — Building = 19,600
Land 70,000 B
Equipment at Cost 1,40,000 -
Accumulated Depreciation — Equipments - 28,000
Rent Received - 18,000
Repair and Maintenance 19,000 =
Electricity 80,000 B
Purchases 6,10,000 -
Discount Received - 10,000
Discount Allowed 14,500 -
Inventory 89,000 =
Debtors 1,06,000 B
Provision for Doubtful Debts - 6,000
Cash and Cash Equivalents 2,53,600 -
Share Capital (310 each) = 3,00,000
Creditors B 49,000
_— - 11,00,000
oales BEUT 17’50? 1,60,000
Retained Earnings

Interim Cash Dividend 30,000 -
Salaries to Staff 2,32,000 - OO;
Salaries Payable 4000 T
Selling Expenses ’
Freight Inward 2007 6k
Bond Payable ) 25,000
Profit on Sales of Land ?
Bills Receivable 1,10,000 -
- 70,000

Bills Payable

Total

——

1903600
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Additional Information:

(1) Provide depreciation @ 5% on Building and 20% on Equipment.
(i1) Inventory has been valued at ¥ 64,000 on 31.3.19.

(iii) Authorised Capital: ¥ 10,00,000 divided into equity shares of Z 10 each.

(iv) Bonds were issued on 1.10.2018. 12%

interest p.a. is payable half-yearly on 1st April
and Ist October.

(v) Income Tax rate is 35%. Ignore corporate dividend tax.

Prepare Profit & Loss Statement for ‘the year ended 31.3.2019 and Balance Sheet on the
same date as per Schedule I of Companies Act, 2013.
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